
A  so B  because C  before D  unless

Q1

A  so B  if C  for D  as

Q2

A  are B  is C  having D  have

Q3

A  would B  were C  had D  has

Q4

A  much B  more C  any D  enough

Q5

A  haven't B  had C  hasn't D  having

Q6

A  having B  is having C  has D  have

Q7

A  from B  so C  if D  to

Q8

A  much B  fewer C  many D  very

Q9

A  many B  much C  few D  less

Q10

Rewriting Sentences (2)

Please choose the most appropriate answer for each sentence.

Given that you refuse to come to class, I have no choice but to fail you. I have to fail you ..... you refuse to come to
class.

I eat a lot of fruits and vegetables, so I have a lot of energy. I don't have a lot of energy ..... I don't eat fruits and
vegetables.

The Wilsons have a lot of trees in their backyard. There ..... a lot of trees in the Wilson's backyard.

Why don't you use a calling card for long-distance calls? I would use a calling card for long-distance calls if I ..... you.

I don't like driving the white car as much as I like driving the red car. I like driving the red car ..... than I like driving the
white car.

We haven't had much sunshine lately. There ..... been much sunshine lately.

There are a lot of dresses in this shop. This shop ..... a lot of dresses.

I get a lot of exercise if I ride my bicycle to work. I ride my bicycle to work, ..... I get a lot of exercise.

The children were making a big mess in the kitchen. The children were being ..... messy in the kitchen.

There are only a few garments in my size in this shop. There aren't ..... garments in my size in this shop.
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ANSWERS: Rewriting Sentences (2)

Given that you refuse to come to class, I have no choice but to fail you. I have to fail you ..... you refuse to come to
class.

B  because

I eat a lot of fruits and vegetables, so I have a lot of energy. I don't have a lot of energy ..... I don't eat fruits and
vegetables.

B  if

The Wilsons have a lot of trees in their backyard. There ..... a lot of trees in the Wilson's backyard.

A  are

Why don't you use a calling card for long-distance calls? I would use a calling card for long-distance calls if I ..... you.

B  were

I don't like driving the white car as much as I like driving the red car. I like driving the red car ..... than I like driving the
white car.

B  more

We haven't had much sunshine lately. There ..... been much sunshine lately.

C  hasn't

There are a lot of dresses in this shop. This shop ..... a lot of dresses.

C  has

I get a lot of exercise if I ride my bicycle to work. I ride my bicycle to work, ..... I get a lot of exercise.

B  so

The children were making a big mess in the kitchen. The children were being ..... messy in the kitchen.

D  very

There are only a few garments in my size in this shop. There aren't ..... garments in my size in this shop.

A  many
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